LOQ¥VYID ISOr VZuVdsa 0D3Idd
voInand YLININD 30 OQYOUYONI.

N

*108|We |8p |

jodse) uos A

«STTVHONW ZIANIWIIOVIN YOINOW
p, TVH3IN3O YHOLO3HId.

1001102 SJUSLLS|JRUOZE] UOS 'SEjou SNS A So1alaueUl Sopejs] So| enb Soluele[o3p pepiaA 10ap ap ejsejoid ofeg

ZL°BEL'G6S0L 28'780°60%'9E VELLE'LIL'BE 90°950'20L'8¥ 90°688'906'52 00°291°008'22 0JSED [2P [BjOL
000 000 000 000 000 00’0 selollejue S8|essy sojdiolale ap sopnapy
000 000 000 000 000 000 eoueq €| op sesopelioye A'ssjopnep e sofode o epnap 'oia1ouBUl 0}S00)
000 000 000 000 000 00’0 soidiojunL A seajelspe) sapepliue e saucloedionied
000 000 00'0 00'0 000 000 opez||eiopad ojsen
000 000 0070 0070 000 000 opezjjesepa 0jseD op seweiBoid
000 00’0 000 000 000 000 seuojsuad p BINoNJ}Seal A ugisianul ap sopuo) B seuoioepody
000 000 000 000 000 000 ug|oez||qejse ap Sopuo) B seuooepody
000 000 000 000 00'0 000 |e1oos pepunbes e| e sauoioepody
000 000 000 000 00’0 000 sauojoe|ign| A seuoisued
00°0 000 000 00’0 000 000 sauoebiqo
00°0 000 000 000 00'0 000 sojeinjeN seljseseq
000 000 000 Q00 00’0 000 |euoiooIpsinf uglonjosal ap ojueituijdwno ep ssuoloebl|

00°0 000 000 000 00°0 000 sosjwoiduion
000 000 00’0 00'0 000 000 seuale souojoriado
000 oo'o 00'0 00'0 00'0 00'0 uonsab e| ep:ojusiwelciow (e A eolgnd uglouny e e ofody
000 000 000 000 000 00'0 Jeuoionyisul ejousioye k| Jelofew eled A olejsendnseld oseooid [ okody
000 000 000 000 00'0 0070 ofody ep A soAnessIUILPY
000 000 000 000 000 000 ugjsianu| ep sojoekold
000 000 000 000 000 000 sooy|oadsy
000 000 000 a0'o Qo0 000 (jeiopad OWBIGOD SjUBLUED|UY)) SBPELLIY SBZieny Se| 8p sauolound
000 000 000 Q00 000 000 uoisiuedns A uoioenbay
000 000 oo 000 000 000 ojuewio) A ugpowold
000 000 00’0 000 000 00'0 seayqnd seonjjod op ugioeneAs A ojuenuinfas ‘ugloesue|d
000 000 000 00’0 000 000 $031|qNd soualg ep UgIsiAcld
ZL'BEL'SES'0L 28'PB0'60Y'9E e LIE'LLL'BE 90°'950°'20L'8F 90°'688'906'ST 00°£91'008'¢2 S001|qNd SCIOIMBG 8P UQIDR]SAId
ZL'8E2'GBS 0L 8°780'60p'9¢ VELLE'LLL'BE 90'950'20L'8Y 90°688'906'GZ 00°91'008'22 seuojoung se| op ouadwesaq
000 000 000 000 00°0 000 solpisgng solo
oo 000 000 000 000 00'0 uooelsdQ ep sejfey e soRing
000 00°0 000 00’0 00°0 00°0 soidioun|y & seaeiopa- Sepeplul o opeAlld £ [B00g 1009 (SOIpISNS
ZTL'BEL'GES 0L Z8'vB0'60P'9E e LLE'LLL'BE 90'990'202'8¥ 90°688'906'62Z 00°29L008'22 seweibold

(v-g)=9 g ¥ (g+l)=¢ z )
opebedq opebuaARQ OPEDLIPOI ] | opeqoidy oydapuon
owiomiEgns
sosalbg

£20Z 2P RIGUIRIDIP AP L [B 0JaU3 3P Lo IPD
Eoneweibold euobajen 1od oysen

SIYICOW SY13A TYLIOINAW OLOLILSNI






